www.prepp.in frepp

Your Personal Exams Guide

UGC NET PAPER 2 NOVEMBER 05, 2017 SHIFT 1 POLITICAL SCIENCE QUESTION PAPER

POLITICAL SCIENCE
PAPER -1I

Note 1 This paper contains fifty (50) objective type questions of two (2) marks each. All questions
arc compulsory.

1 Who said “"Kautilva's Artlashastra exemplified radical Machiavellianism, compared to it,
Machiavelli’s Prrnce is harmless™ ?

(1)  Weber (2) Morgenthau (3)  Waltz (4) Kissinger

2. According to Plato, justice is :
) Distribution of goods and services
) Burdens and Benefits
3} Punishment and retribution
)

One man one work, one class one duty

3.  Given below are lwo statemenls, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer [rom the code given below

Assertion (A) : Qakeshott says Hobbes is the greatest political thinker produced by the
English speaking people.

Reason (R) : No other thinker can match his philosophical foundations and clarity of
thought.

Code :

(1)  Both (A) and (R) arc truc and (R} is the correct explanation of (A)

(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4)  (A) is [alse, bul (R) is true

4.  Hegel's dialectical method was :

1 to build a science of politics

to accept the Enligchtenment’s philosophical method

3

!
: to assort that the methods of natural sciences and those of social sciences were identical

(1)
(2)
(3)
(4)  to solve the problem of contradiction
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Who distinguished the Young Marx from the Old Marx 7

(1) Althusser (2) Lenin (3)  Miliband (4)  Luxemburg,

O. Gramsci characterised Fascism as
('1) Hegtﬁ.moﬂit? revolution (2) Passive revolution

(3)  Bourgeois revolution (4)  Petil Bourgeois revolution

7.  Given below are lwo statemenls, one labelled as Asserlion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) @ Gandhi was critical of the material civilisation and particularly detested
the Industrial Revolution.

Reason (R) : He believed that Industrial Revolution was destroying deeper values.
Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) arc true, but (R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4)  (A) is false, but (R) is truc.

8.  Roy - Lenin debate contred around
(1)  Dialectical Malerialism (2)  Marxist Theory of History

(3)  The Theory of Surplus Value (4)  Colonial Question

9.  Deliberative Democracy 1s :
(1) A theory that champions exclusively Human Rights.
(2) A theory that puts [orward environment as the most important agenda.
(3) A theorv that concentrates on refining the familiar framework of liberal democracy.

(4) A theory that wants to usher m socialism by democratic means.
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10.  Why was behaviouralism shortlived ?
(1) Inability to evolve consensus
(2)  Too much dogmatism
(3) It was a localised event

(4) Coloured by Cold War prejudices

11. Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Select the correct answer from the code given below :

Assertion (A) @ According to Weber, comparative politics could be comprehended within
the larger imm(m ork of culture, which he did by demolishing Marx's theory
of cconomic determinism.

Reason (R) : As without this rejection, his theory was totally untenable.

Code :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(2)  Both (A) and (R) are true, bul {R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4)  (A) is false, bul (R) is true,

12.  Given below are two statements, one labelled as Assertion (A) and the other as Reason (R).
Sclect the correct answer from the code given below

Assertion (A) @ Institutional approach can help in mapping the landscape of politics.

Reason (R) : The goal of institutional approach is to reconcile the competing values of
individual freedom and collective cquality.

Code :

(1) Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A) is true, but (R) 1s false,

(4) ) is false, but (R) is true.
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13.  Which century according to Easton is “The Age of Scientific Method” 7
(1) Seventeenth Century (2)  Eighteenth Century

(3)  Nineteenth Century (4) Twentieth Century

14.  Aristotle’s classification of constitutions was based on the categories of
(1) who rules and who benefits from the rule
(2
(3

(4)  to ensure rule of the majority

) ways and means of perpetuating in power

accepting the basic formulations of Plato’s The Republic

15.  Which one of the following countries follow a semi-presidential system 7

(1)  Sri Lanka (2)  Germany (3) Ttaly (4)  France

16.  Who challenged the established view that in Great Britain the Conservative party was elitist
and leader dominated, while the Labour party was characlerised by a high measure of internal
democracy ?

(1) Robert Michels (2)  Robert Mekenzie
(3)  Tony Benn (4)  Mosei Ostrogonski

17. Burcaucratic authoritarianism is a varianl of :

(1)  Military rule (2) Tascism (3)  Communism  (4) Despotism

18.  Which theory held that as societics developed they would become capitalist democracies,
converging around a shared set of values and characteristics 7

(1) Dependency Thtfcfn‘y (2)  Structural Functional Thcrt_')r}f

(3)  Modernization Theory (4) Post-modernization Theory

19.  Legitimation crisis as an alternative to Weberian approach to legitimacy was developed by :
(1) Miliband and Sweezy (2)  Plekhanov and Lenin

(3} Camus and Sartre (4) Habermas and Offe

nanz ] Il 8
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20.  Who said Revolution meant a drastic sudden substitution of one group in charge of the
running of a territorial political entity by another ?

(1)  Hannah Arendt (2)  Theda Skocpol

(3)  Crane Brinton (4)  Hubert Johnson

21.  Put the following cvents in their L‘.hrm“uﬂcf}gic.a] order and sclect the correct answer from the
code given below :

Poona Pact, Third Round Table Conference, Swaraj Party, Communal Award, Nehru Report.
Code :

(1)  Swargj Party, Poona Pact, Third Round Table Conference, Nehru Report, Communal
Award

(2)  Swaraj Party, Nehru Report, Communal Award, Poona Pact, Third Round Table
Conlerence

(3) Poona Pact, Swaraj Party, Communal Award, Nchru Report, Third Round Table
Conference

(4)  Nehru Report, Third Round Table Conference, Swaraj Party, Poona Pact, Communal
Award

22.  Which of the following parties/groups the Cabinet Mission did not recognise ?
(1) The Muslim League (2)  The Congress

(3)  The Sikhs (4)  The Princes Guild

23.  Which of the following come within the ambit of Article 21 of the Indian Constitution ?
(a) Right to shelter (b)  Right to good roads
(c)  Right to reputation (d)  Right to pure drinking water

Select the correct answoer from the code given below .

Code :
(1) (a) and (b] (2)  (a), {c) and (d)
(3) ), (b) and (d) (4) ), (b), (¢) and (d)
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Which of the [ollowing cases reflect on the elements of the basic structure of the Indian
Constitution 7 Choose correct answer from the code given below :

(a) Indira Nchru Gandhi V. Raj Narain
(h)  Kesavanand Bharti V. State of Kerala
(c)  S.P. Guptla V. Union of India

(d)y  Mincrva Mills V. Union of India

Code
(1)  (a), (b) and (d) only (2)  (a), (b), () and (d)
(3) (<), (d) and (b) only (4)  (a), (b) and (c) only

When were the rules regarding Department Related Parliamentary standing committees made
in India ?

(1) 1977 (2) 1981 (3) 1989 4) 2010

Which of the following state has a scat reserved on the basis of religion in the Legislative
Assembly 7

(1)  Goa (2)  Mizoram

(3)  Jammu and Kashmir (4)  Sikkim

Which of the following pairs is not correctly matched ?

(1)  Rolling Plan - National Front Government
(2) 20 Point Programme - Congress Government

NDA-I Governmenl

(3)  National Commission to Review
the Working of the
Constitution

(4) National Rural Employment 2 UPA-I Government
Guarantee Act

Who among the following was not a member of the Sarkaria Commission on Centre-State
Relations ?

(1) Justice R.S. Sarkaria (2)  G.V. Ramakrishna
(3)  B. Shivaraman (4) Dr. S.R. Sen

Smce when the Election Commission of India has become a three member body 7

1989 1990 (3) 1993 (4) 2001

(1) (2)
aazr [ [T
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30.  Arrange the following peasant movements in their chronological order. Select the correct
answer from the code given below :

(a) Tebhaga (b) Champaran  (¢) Singur (d)  Bardoli
Code :

(1) (), (@), (), (d)

(2)  (b), (d), (a). ()

(3) (o), (a), (b), (d)

4) (), (b), () @

31.  Which of the following approaches is the precursor of the Ecological approach 7
(1)  Classical approach (2)  Human Relations approach

(3)  Svslems approach (4)  Behavioural approach

32. Malch List - I with List - IT and sclect the correct answer from the code given below

List -1 List - 11
(Theory) (Thinker)
(a) Classical Theory (i)  Elton Mayo

(b)  Human Relations Theory

Wi

11)  Henry Favol

(¢)  Decision-Making Theory

———

1) V. Oslrom

(d)  Public Choice Theory (iv) Herbert Simon

(@ (b) () (d)
(1) @) @) (v) (i)
(2) (i) (@) (v) (@)
3) @) @) () (v)

(4 () ) av)
onzn [ [[[H[HHTHAN

i
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Who among the following has specified six qualities of an administrator / manager - physical,
menlal, moral, general education, special knowledge and experience ?

(1)  Fayol (2)  Gulick (3)  Urwick (4)  Follet

34. Which of the following 1s an example of auxiliary agency ?
(1)  Department of Defence (2)  Department of Home

(3)  Prime Minister’s Office (PMO) (4)  Public Works Department

o8
]

Which one of the following types of bureaucracy tend to exhibit a bias towards party
interests ?

(1)  Caste burcaucracy (2) TPatronage burcaucracy

(3)  Guardian bureaucracy (4)  Ruling bureaucracy

36.  Which of the following are excluded [rom the RTL Act ?

(a
(b

o THEP

Central Burcau of Investigation (CBI)

o —

Research and Analysis Wing (RAW)

(c)  Central Reserve Police Force (CRPF)

(d)  Prime Minister’s Office (PMQO)

Select the correct answer from the code given below :

(1) (a) and (d) (2) (a) and (b) (31 (a), (b)yand (¢) (4) () and (d)

37.  Which of the [ollowing commissions,/ committees recommended thal the financial year should
be from January 1 to December 31 7

(1) LK. Jha Committee (2)  Sarkaria Commission

(3)  Sixth Pay Commission (4)  Second Administrative Reforms Commission

38.  Which one of the following types of lraining prepares fulure recruits for the public service ?

(1)  Intormal training (2)  Formal training
(3)  DPre - entry training (4)  Post - entry training
|| T T
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39.  Which of the following statements are correct about the Central Vigilance Commission 7
(a) Tt was sct up on the recommendation of the Santhanam Committee
(b) Ttis a statutory body
(c)  Itis a multi-member commission
(d) It exercises superintendence over the working of the CBI
Select the correct answer from the code given below :
(1} (a) and (b) only (2)  (b) and (c) only
(3} (a), (b) and (¢) (4)  (a), (b), (¢) and (d)

40.  Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the code given below :

Assertion (A) : The expenditure charged on the Consolidated Fund of India is not subject
to the vote of Parliament.

Reason (R) : [t 1s in the nature of obligatory payment.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R} is [alse
) (A) is false, but (R) is true

41.  Which of the following combination game theory utilizes to analvse strategic interaction
among decision - makers ?

(1)  Mathematics and Reason (2)  Reason and Logic

(3)  Logic and Rationality (4) Mathematics and Logic

42.  Consider the following statemoents with regard to MTCR ¢
(a)  China is not a member of MTCR
(b)  India 1s a member of MTCR
(¢} Aims at restricting complete rocket systems
(d) TPakistan is a member of MTCR
Select the correct answer from the code given below .
(1) (@), (), () (2) (&) (d), ()
(3) (b)), (c), () (4)  (d), (b), (a)

aazr [ [T
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39. TAfafEd § 9 -8 Fo9 hetd Tdehdl 2@ o o H =l 2 2
(a)  THSHRI TIYAT T=or9g |iofa =1 fawifer @ &1 72 of |
(b) &% Uk Wilalasw [=E 2

() T2 3Tk Wl ATl Ueh AT ¢ |

(d) AT =har Faue = (91 S $0%) o FE = R FHE

A= Tag T8 2 § W T R FGT i
(1) e (a) R (b) (2) A (b) N (c)
(3)  (a), (b) 3R (c) (4)  (a), (b), (c) AR (d)

L

40, 7= 1 A o7 €, w1 it YT (A) SR S A deh (R) FET B A fod T E
TN ST HEl S A

3

AfHRIT (A) :  YRG *I Tiaa Ty 9 aifid =991 §98 & 9d & 32987 781 T

ek (R) : T TAEY SATEHT T 1 6 |

che :

(1) (A) 3 (R) 3F ¥ § 31 (R), (A) 71 el TI0I0 T |

(2)  (A) SR (R) TF TEl §, fA (R), (A) 1 T TR Tl 2
(3) (A) A T, T (R) 797 5|

(4) (A) 8 T, T (R) ¥ B

41, Tr=fafea § 9 98 sF-w 9q=@ ¢ foaas suam g fagr (7| omd) o fofa = are & 4=
TR HaATe o1 Tagerau hid g a1 S g ?

(1) 7foa 3R R (2) R IR ek
(3) Tk A FIRIHERT (4) TIford R 9

42. UH E 9 F "y H fyefafen wmuet o faam w1
(a) = TH 2 E 3R W R R
(b) 9 TH <1 Ft 3R 1 e 2|
(c) THRI w&1 qU] ke T i Hifd H T
(d) ITfREaH TH 2 €l 3T F HEH ¢

SERECRIDIC TASR F BEntC R EERCH I 1

(1) (a), (b), (0) (2)  (b), (). (¢)

3) (b))
4l

x

N-0021

( &) : :
LT m —
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43.  Which one of the following is not a criteria of just war ?

(1)  Be authorized by a sovercign prince

(2)  Be proportionate
(3} Be pursued for just intent
(4)  be undeclared

44. Whose Presidency in America was marked by “war on terrorism’ 7
(1) George H W Bush (2)  George W Bush Jr
(3)  Bill Clinton (4)  Barack Obama

45. A unipolar condition to which George W Bush Jr referred as a balance of power that favours :

(1)  Sccurity (2)  Cooperation (31 Proage (4)  Frecdom

46. Match List - I with List - IT and select the correct answers {rom the code given below :

List - I List - II
(Authors) (Books)
(a)  Andrew Linklater (i)  Cooperation under Anarchy
(by I Clark (ify  The transformation of political community
(¢)  Kenneth Ovye (i11) Gendering world politics
(d)  J.A. Tickner (iv) Hegemony in International Studies
Code :
(a) (b) (¢) (d)
() @ v (i)
(2) (i) () @ (1)
(3) Gy (v) () (1)
&) () () @ (i)

47.  Given below are lwo slatements, one labelled as Assertion (A) and the other labelled as
Reason (R). Sclect the correct answer from the code given below :

Assertion (A) @ India is seeking permanent membership of Security Council of UNO.
Reason (R) : India 1s a nuclear power.

Code :

(1)  Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A] 15 true, but (R) 1s false

(4

)
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) is false, but (R) is true



www.prepp.in

43.

44,

45,

46.

47,

prepp

Your Personal Exams Guide

P
.

= H ¥ %[ =178 g &1 T HIISUS T8
(1) S ISTHAR g ST g
(2)  HATATlaeR BT

(3)  HEHTG F2vd & Tl Tehar S

(4)  STERfo g

i it

U § g quufa & s &1 ' edearR & favg a2k’ & SR o ®9 § SIH1 911 2 2

(1) Sl T B ¥ (2) SIS e g9 S

(3) T Teeie (4) S ]

ush UHYETA Teafa foam seora oS gse 99 IR | vt o e & ®9 H A ¥ S femredt ©
(1) g (2) @A (3) wifa = (4) T

Al - 19 F=A - 11 ] grfad FL 3R = 520 T e | 81 IR & =97 H

el - | = - 11

( ol ) (ver)
(a) Uz foleherex (i)  FHIOWE SIS TARR|
(b) TH. T (i) T JEPHIA A qieAfZehel hegfife
GEEECE R (i) Sefin g miafom
(d) . U fZE (iv) ESHM 37 T2 30
ehd ;

(a) (b} (c) (d)

() @ (v) ()
(2) i) @) 1) (v
(3) () Gv) (@) (i)
(4) (v) () (@ (i)

™

A 21 A a8 T €, U &1 AUk (A) SR T FI Wk (R) F2 T B 1 A 99 T F2 #
TN L Fal R A
AT (A) :  ¥RG T TP U ol FLeT URNE 1 Tl Heed I+ <l ¢ |

Tk (R) : YA Wk TLHT] ¥Ifa] |osl g §

che :

(1) (A) 31 )EWW% 3T (R), (A) T & TIFEHIT T |
(2) (A) R (R) T FA €, T (R), (A) FT HET TR &7 B |
(:%) (A) T T, Tﬂ'—rg (R) 9 ‘%’W

{ﬁ) A 2 @, "-H"l) (R) qH 2 2 |

— HHHHHWHHH\ LT :
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48. Match the List - I with List - IT and select the correct answer from the code given below :

List - I List - II

(a)  Nixon doctrine (i)  Support to anti-gucrilla movements
(b)  Kennedy doctrine (ii)  Pursuit of peace through a partnership with allies
(c)  Reagan doclrine (i) Intervention to prevent genocide
(d)  Clinton doctrine (iv) Foreign policy initiatives towards Latin America
Code :

@ B (© (@
(1) @) G @v) (i)
@ i) () () O
G) (v () @)
@ ) v @ ()

49.  Consider the following statements with regard to Non aligned movement.
Julius Nyverere was one of the founding members of NAM

India hosted seventh NAM summit

(c)  The seventeenth NAM summit was held in Venezuela

(d)  The headquarters of NAM is in Belgrade

Select the correct answer [rom the code given below :

(1) (@), () and (o 2) (), () and ()

(3) (b} and (¢ (4) (b} and (d)
50.  Which one of the following is not part of “Three Pillars” of R2P (Responsibility to Protect) ?

(1) If a state fails to protect its population, International community take collective action
in accordance with the UN Charter

(2)  Itis state’s responsibility to protect its population from four mass atrocity crimes

(3)  Itis the responsibility of Inlernational Communily to protectl people from crimes against
humanaity

(4) International Community’s responsibility to assist individual states in meeting the
responsibility

-00 o0 -
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48. T - 1 %] = - 11§ gaferd & 1R 419 (S0 T8 2 § 921 3T 1 997 &
et -1 e - 11
(a) fre= fagra (i)  TREE fae ArSer] w1 gHYT
(b) el fogra (ity T g ok Ty YRR g Wi 6T 9
(c) U fagra (i) X HER UH TG 58
(d) Tz g (iv) wifed-sfent i & ufg fagy 9if =1 92
<hd
(@) (b) () (d)
() 0 (@ Gv) (1)
(2) (i) () (v) (i)
) (v) 1) () @)
(4) () (@v) (G (i)
49, Tz stigie = "ay § frefafes wui = fa=r Fife
(a) Sffores = e e1iEed (99) o U S8 935 4 |
(b) HRA ¥ "l 48 T daw i JstamT i off |
(¢) TFRdl "7 foeR 92& aAeue § s i TE off |
(d) 9 = GEAE I § ¥
A= T a2 wEl T I
(1) (a), (b) TR () ) (a), (c) R (d)
(3)  (b) ¥ (c) (4)  (b) 3R ()
50. TreIferRgd o § whiF 3 2 o (HIE 1 2Ifde) o G S\ o 9 T g 2
(1) AfE T 10T S8 31 G USH i § fawel wal ©, a1 A=y 998/ 94930 TF 99
o T2 6 TN "Hfeh HEaR HUT |
(2) I% I 1 ST T T @8 3191 THEA] sl 9R U STrar STIUH] § SET 98 o |
(3) AT FRULH HHIA 1 FHAed ¢ [ o8 HHadl ok [08g SO d a1 31 HLET 98 Y |
(4) YeIE USF % RIMAcE o (egd U S9! §edl o STadyid W 1 Sl |
-00o0-
ad TN Faper
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